;

Set No. : 1
RET/15/TEST-B

204 Mathematics

(To be filled up by the cal¥ Phlue/black ball point pen)

Roll No.

Roll No: {Write the Gt DEWOTEE) .o oo o s s aSnss At i G A e a2S

Seiial No. 0F OMERIABSWER SIEBL oo s e s m e S i S o e e oo s e

Day and Date .........ccooooiiiiiiiiiieieee
( Signature of Invigilator )

INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, Please ensure that you have got the correct

booklet and it contains all the pages in correct sequence and no page/question is missing. In case of fauity

Question Booklet, Bring it to the notice of the Superintendent/Invigilators immediately to obtain a tesh

Question Booklet.

Do not bring any loose paper. written or blank, inside the Examination Hall except the Admit Card

without its envelope.

3. A separate Answer Sheet is given. It showld not be folded or mtiluced, A4 second s wer Sticer
sthall not be provided.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

5. On the front page of the Answer Sheet, write by pen vour Roll Nuntber in the space provided ar the
top, and by darkening the circles at the bottom. Also, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and Roll No. and OMR sheet no. on the Question Booklet o

1. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it witl be tuken as
unfair means, ‘

This Booklet contains 40 multiple choice questions followed by 10 short answer Giigtions. Tor
e(.lch MCQ, you are to record the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row of the Answer Sheet, by pen as mentioned in the guidelines give;l

on the first page of the Answer Sheet. For answering any five short Answer QOuesti g
Blank pages attached at the end of this Question Booklet, eslions use five

9. Foreach question, darken only one circle on the Answer Sheet. If you darken more tha :
darken a circle partially, the answer will be treated as incorrect. one circle o

10. Note that the answer once filled in ink cannot pe changed. If vou do not Wish ¢o
leave all the circles in the corresponding row blonk (such question witl pe qu;am d
1. For rough work, use the inner hack pages of the fitle cover and me biank pego at the o, e il

- . d(}f.t : s
12. D(.’pOSH both ,MMWWMIHM 7:9!9{, his BOOk]L[_

: itted to lea |
13. You are not permitte o ol
14. If 2 candidate attempts 10 USC any form of unfajr means, he/she shalj p,,

. . liapje
University may determine and impose on him/hey. {0 such Puniishime
mve

Total No, of Prfﬂffdfﬂgﬁ” 25

|5
.

k=)

wempt a quess;

Nt as the

Quéstion Booklet No. 00056

Al



RET/15/TEST-B 904 /Mathematics

ROUGH?«“{*

pe L3



No. of Questions : 50
gl B wEr : 50

Time : 2 Hours Full Marks : 200
g ;2 gue guiiss : 200
Note: {1} This Question Booklet contains 40 Multiple Choice Questions

&

(3]

followed by 10 Short Answer Questions.

T AT g 7 40 TS 9 10 WY Il wed ¥

Attempt as many MCQs as you can. Each MCQ carries 3 {Three)
marks. 1 {One} mark will be deducted for each incorrect answer.
Zero mark will be awarded for cach unattempted guestion. I
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

aﬁaﬂ%aﬁﬁr@uﬁaﬁwwﬁwmaﬁ[ma@%@
mqa(ﬁﬁ)@ﬁm%lmww%%muw)\w
mﬂﬁmrmaﬁaﬁﬁnﬁwmsﬁg}mwﬁ
a@mmﬁ%%@m%@waﬁw%%mﬁ
B, A fFrepeom @@ 3w ¥

Blank § (Five) pages attached with this booklet sha]] only be

used for the purpose. Answer each question op Separate page.
after writing Question No.

%aas(ﬁa)agaaﬁansﬁ%w%rmnﬁ 16 Gz
SFE F B TW IH Iye 150-200 911 F g ayey a‘n‘gqj
sﬂ&;ﬁﬁqzﬁgﬁwﬁaﬁngﬁs(tﬁa)g%‘f%rérm
W%tmquaﬁrwwwﬁ,nwm%@w
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Ol.

02.

03.

04.

0S.

The newspaper '‘Commonweal was associated with :

(1} Annie Besant (2) Motilal Nehru
(3) Pt. Madan Mohan Malviya  (4) Dinshaw Wacha
‘G FEER-9S e " a7

(1) T J¥e (2) T JEE
(3) To HEAHEA HIEGH (4) f&sem ar=m

Who presided over the fourth Buddhist council ?
(1) Ashwaghosha (2) Vasumitra (3) Raivata(4) Naganuna

wgel A Tolfer A aremerar Feeer A ooft 7
() Hwei () GgEE (3) o (4) AR

Who among the following has been considered a lady Tirthankara in
the Shevtambara tradition ?

(1) Kunthunatha (2) Mallinatha

(3) Sumatinatha (4) Shantinatha

e T § e § @ BRY el diefet W T ©

(1) YT () wfeerrr () gafaaEr (4) SHIENRIR

Who of the following Jain saints is associated with Chandra Gupta

Maurva ?

(1) Umasvati (2) Haribhadra (3) Hemchandra (4) Bhadrabahu
3 A & arer fra S |y A AH ST € 7

(1) sHEEma (2) BIAR (3) BHT= (4) H=AE

Which onc of the following pairs is not correctly matched ?

(1) Chand Bardai - Prithviraj Raso
(2) Narpati Nalha - Bigaldev Raso

(3) Jagnik - Alha Khand

(4) Abdur Rahman -

Tlwnnr Raso
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06.

07.

08.

09.

Frfefed gl & & @9 w9 gifag =8 3 7
(1) ¥% 9@ - geRmst I (2) RO e - draeRg a6
(3) ST+ - 3eeT Tos (4) FFTEHE - guiR T

Who among the following was a noted Jehangiri painter ?
(1) Mir sayyad Alj (2) Abdus Samad
(3) Govardhan (4) Abdus Hasan

P § & P9 e e R oy 2
(1) rﬁr@maﬁﬁ(zmﬁgﬂww] M (4) 359 2gq

Who among the following was a disciple of Hazarat Nizamuddin Auliva ?

(1) Ibrahim Lodi (2) Nasiruddin

(3) Amir Khusrau (4) Alauddin Sabir
(1) e S (2) TR

(3) SR gaRt (4) TSI wifiry

Who of the following was responsible for the Compilation of jey
upanishads ?

(1) Elphinston (2) Briggs (3) Dara Shikoh (4) Baveridge
Frfifaa & & feay iy SRl H Heper BT o7 7
(1) Tiibes  (2) farg (B) IBE () YR

(1} William carry (2)  William Joneg

(3) Nathanial wallich (4)  James Princep

P.T.0,
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U a@redl ol & qed W wwd B e ge a7

(V) TafRr &4 Q) Tt s
(3) eI aferer (4) S ey

10. In which of following caves the mural of Padmapani was found ?

(1) Ajanta Cave (2) Ellora Cave

(3) Armamalai Cave (4) Bhimbhetka Rock
Frferfeaa & & Fopm e & ugaaifer &1 faffes 9w =
(1) orfar TH (2) TART IH

(3) ARETSR T (4) sfH¥Ed T

11. A rod is set rolating about its one end in space in any manner. Then,

(1) The number of Euler's angle and degree of freedom both will

be two.
(2) The number of Euler's angle will be three and degree of

freedom will be two.

(3) The number of Euler's angle and degree of freedom will be

thred,

(4) The number of Euler's angle will be one and degree of freedom
will be infinite.

T 63, ﬂwﬁm@@%mﬁaﬂ'{gﬂﬁ% SE|

(1) e @t @ s wife Gt 1 der &l e

3mmaﬁﬂeﬂﬁaﬁwmﬁﬂwaﬁl
Fi i A aen A

(4) oA o1 2 e e i
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12.

13.

Il kinetic energy and potential cnergy of a system are given hyv

—— . . 1
((-1[ ), +q,q, +6CI.) and V=C + 54, then

T=

b | —

(1} q,and q, are cyclic coordinates

(2) q, is cyclic coordinate

(3} q, is cyclic coordinate

(4) neither q, nor q, 1s cyclic coordinate

qﬁﬁﬁﬁﬁiﬁﬂiﬁfm@ﬁaﬁaﬁmaﬁ%ﬁm:ﬂ:

l Ll 7 * . I =
Tzf(‘lf*ﬂi+q](iz+6q|) TgT vV =C + pic] q =g fHyr T[T BT Gt

(1) q, 3R q, T s @

(2) q, = FEE 2

(3) q, Thig f4Eers &

(4 W q iR 7 @ q & Ty Briais 3

For the expressions of kinetie energy, 1= (9 + 4 *9'}3}) and potentia]

b | e

T |
energy, *;(9 +4)+C , Hamiltonian function may be writien as -

P.T.0
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14. The flow formed by the veiocity vector g=(-ay. ax,0), where a is a

16.

constant, 1s :
(1) not a possible flow (2) a possible rotational flow

(3} an irrotational flow (4) a possible irrotational flow

37 gfesr = (-av.ax,0) T a fuEiw 8, & T gae IR 1
(1) warE §9d T8 2 (2) U ol waE d9d ©
(3) 0% YU YA HHd B (4) UH ST HA® 8

The Reynolds number is ratio of :
(1) inertia force to viscous force (2) inertia force to gravity force

(3) viscous force to thermal force (4} inertia force to thermal force
TGS G, ST 2

(1) e e ok eamT AW W (2) T g A TuA T W
(3) 9 a9 AR FHE A Bl (4) o™ o I FHE T H

The boundary value problem corresponding to the integral cquation

Wx)= 4 [’_‘(x —y(H)dt- ,ixj“ (1-t)y(tydt 1s :

AR RO y(x) 4 L‘(X o g R j{:(l_t)y([) - e
g god qadn T

(1) y" - 2y=0, yO =Y (1) = 0

@ y +ay=0 yO=y(1)=90

(3) vy -AY*~ 0, y(0)=0,v(l)=1

(4) A 0, y{0)=1, v(1) =0
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17

18.

19.

Using the central difference schemes, the finite difference equation
corresponding to the differential equation y' -2y +y=x%at the grid
X, whenx -x _ =his:

ST FHIHIT y' - 2y' +y = xS Rrg, B ST GBRT BT YT
B gL, B1S % T, 9% x,-x, = h Free st @sieer &

(1) y.,—hy +y_ =x1
2) (h)y, +(h*2)y, +1+hy, =h'x’
B (H)y. -@-hY)y, +1-hy,, =hx

) (h)y, —-h")y, +(1-hyy,, =k

’_Fhe partial differentia| equation sin* x U_ +sin2x u,+ cos’ x U =5
is : '

(1) elliptic (2)  parabolic (3) hyperbolic  (4) circular
HIIF ST Teieper Sin®x Uy +sin2x U +cos’xU_=x & :
(1) & g (2) R

(3) Uz ) =FE (i)

The solution of the partial  differential equation
ot du b

e o NN i

0

A 3 ay%-a: SUbjeCttou[o’x*Y=z]zezSiI’lXCOS)gand13[)]'S_-

. | fu g
MNP STt wefiaor Q+QL_1_§E+_@_|:0

& ox &y &
ﬂaﬁ’f-‘;u(o,x,y,z) =€smxcosy afw (> 0 T BA BRI :
(1) uft, x,y,2) = et gin (x +t) cos (y - t)
(2) uft, x, v, 2} = et sip (X =t) cos {y - t)
(3) ult,x,y, 2 =esip (x +t) cos (y + t)
(4} uft, %, y,2) = et sin (x - teos(y+t)

P.T0.
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20. Let f:®° 5 R be defined by fix) = x* - x:. Then :

2%,

(1) [0, 0 |Tsatisfies the first ordor necessary condition
(2) [0, O [Tsatisfies the sccond order necessary condition
(3) 10,0 ]"is a minimizer of {

(4) |0, O )" satisfies the second order sufficient condition

qfE for SR P fx) = x -x, & R fEEr & e aF
(1) 0.0 gom HIfE & aavaes 9 i G Her &

2) 10,01 T i & omasash o B gel BT T

(3) (0,01 f & AR 2

[4) 0.0 | Sadia @R @ el e W qRr BT ¥

; I v |4 2 x—x" _1~|
Consider the minimization of f{x,, X} "35> {5 o7 7 |1+ ¥ &=

using the conjugate direction method with x"={0, 0 |7 and Q-conjugate

3
4

e

I Then -

directions d° = [1, o[Tand d' = ‘ -

i L

3
\

g

i3

. 3 3 <
X0 = [0, OF 3T Q-FFet faemd dv =1, off, d' = [‘E‘ﬂ % qrer gid

L

L |4 ﬂx-«»ﬁ -1] e
fro Rafer @7 g@PT I B fx, %) T3% 1o 27T 1 YR

EIEIE U ERER I HL Td ¢

r . l
[ - e i\
1) =L @ %=y BIX *{_ 4.-0} 4 g KO"-Z

10
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22.

23.

24.

25.

1 ,
Letdfx,;a)e= xf+ o X;+3. By taking x° = [1, 2", H, = I, and applying

the rank one correction algorithm to minimize f, we get :

qﬁf(xﬁf"f*%ﬁ” %a?rﬁasm@?rﬁwzﬁrmaﬂﬁgq
AR = [1, 2 T H, =1, T §C £ B BT B & & ey S -

T
b e-p2 @ a3 (G g=1 4 x{%ﬂ

Total number of group homomorphisms from groups ¢, —»¢,, are :

el ¢, »¢, A TE U Pl FF Ty ae
(1) 2 (2) 6 (3) 8 (4) 48

If W, and W, are subspaces of a finite dimensional vectar space U,
then annihilator (W, I W,)°%is equal to -

mamﬂmr@ﬂuﬁwmw,wwz%eﬁmm
W, I W,)° SR &y -

1 W'Tw! (9 W UW!? (3) WP+ w? 4) wew,

In group U24) = (1, 5,7, 11, 13,17, 19, 23
fH={1,13}and K = {1, 17}, then HK is given by :

TE V24 = 1,57, 11, 13, 17, 19,23 § gfe p - 1,13 an
K={1,17}, & a9 ux an -

(1) {1,13,1,17 (2) {1,13,17

(3) {1,5,13, 173 (4) {1,13,17, 221

11
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26.

27.

28.

fet U bethe coctor soaeaafan :
be the ﬁettcirl eur;or SRACE Ul 5y m#in matrices over the field F and v
Hom (U V]. thip\:ici of ali n~r. matrices over the same field F. Then
_ J, V], ector space of all linear transfo I

ik oF i ersics rmations from U to V

HET 6 &9 F & & mem STYE il @il Y U 8 T&r 34 &3
P%mﬂnxn Aege 1 @RoT H V i ag U AV B Al e
wqiaYeT & 9fer @E Hom (U, V) &1 A™M BRI :

(1) m+n 2} (m-+n? {3) mn (4) m?n?

I
4

.
I
et R = 1,,] 1, {ja,,a,, a,,8, €¢ ! and [ be the ideal of R consisting of

djia{ri(?i‘.s with even integers. How many elements are in the quotient
ring R/1?

(1) 4 2) 8 (3) 1% (4) infinite
('[ i | 'l

ald R = \|a, aJld Ly, 8, € F r 3T [ R o wAsfead & s R &

amrerEl & AW Ul der & e ae@ R/1 H ogdl &l S

e Br

(1) 4 (2) 8 () 16 (4) I

Let X and Y be topological spaces and F: X -3 Y a continuous function.
Then :

(1) ifXi1s Housd
(2) both X and Y are Housdorlt or

(3) ifYis Housdorff then X is Housdorff
(4) either X of Y is Housdorff spuce

orff space then Y is also Housdorff
none of them 1s Housdorff

12
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29,

30.

WX@TY,W@H%WF:XAY,@WW%
a9 -

(1) qﬁx%mw@v%a‘wiﬁmmm

(2) aﬁaxaﬂTYwmaﬁmaﬁéﬁm
(3) aﬁvm@v%ﬁxm@a@m

(4) A X A Y eEEgE QY T

Consider the following statements :
(A} The property of ‘compactness" is a hereditary property.
(B) The property of ‘compactness” is a topological property.

Then :

(1) Ais true and B is false (2} Bis true and A is false
(3) both A and B are true (4) both A and B are false
B el W fer #Rm

(w)*%%%ﬁ’wmaﬁqugw%l
(@)‘ﬁwﬁa’wgwa‘:hﬁﬁﬁr‘{aﬁj"r?l

aq

(1) % 89 3 3R g sy (2) & T 3 A * st
(3} & % ol @, g 2 (4) aﬁfaﬁaﬂT@,m%

Let X be an uncountable set with cofinite topology. Then :

(1} Xis first countable but not second countable
(2) X is second countable

(3) Xis not first countable

(4) X is separable

13
P.T.0,
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31.

32.

O X HiS STURAy §ea & et St RIEEaEe 8, o
1) X s R qx P aRd et

(2) X fadim ofmm 2

(3) X ygq giRAg & 8

4) X JAFHRTIT 8

Let x, = |7 and for any natural number n2 1,X,,, = y2¥X Then :

(1) the sequence (x ) is monotonically decreasing and limx, =0

(2) the sequence (x) is monotonically increasing and limx, = *ﬁ
{3) the sequence (x ) is not monotonically increasing

(4) limx =2

Hep

oM x, = J2 O fdl ot e WEA 02 1 & fra x,., = y2tx, 8
g

limx, =0

(1) W(Xn)f{aﬁﬂﬂﬁ"@qﬁ%w%aﬂ? lim
(2) NW(X“)%WW@%W%Wm;ﬁJE
(3) 3THH [xn)ﬂ‘cﬁﬂﬂﬁwﬁq@ﬂ%’fw%

(4) limx, = 2

Let f:R »R bea monotonie function and S denote the set of points

s discontinuous. Then S 18 :
(2) a countable set

(4) an uncountable set

where {1
(1) a finite set
(3) a countably infinite set

14
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qFT f:R - R Wﬁmwéwsw%@eﬁmw%ﬁ‘
F 3789099 8 @9 S &y -

(1) Ff=s age=y (2) 9RAT Ty
(3) Qﬁﬁﬂwaﬁaﬂw (4) AT ag=g

33. LetE be a subset of R .Then :
(1) ifEis Lebesgne measurable then E is a Borel set
(2) if E is not a Bore] set then E is Lebesgne measurable
(3) ifE is a Borel set then E is Lebesgne measurable

{4} none of the above

TUE, R F W 3T gy 2 g

(1) @Eééﬁﬁﬁﬁa%ﬁhﬁwaﬁawmi

(2) qﬁEw%wqﬁMWE%ﬁﬁwﬁﬁm
(3) ﬁE%w%mEﬁﬁwﬁm,

(4 SR § § g 7

iz 0
34. Let f(ZF{ZE °

z=10

thenz=0is a:
(1) pole of f{z)
(2) removable singular point of f{z)

(3) non-isolated singular point of f(2)
{4) essential singularity of f(z)

15
P.T0,
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35.

36.

af f(‘_{)z{ze”z z# 0
0 z=10

dq z=0%:

(1) flz) T g

(2) flz) @1 POl G g

(3) flz) T FEYFT THA &g
(4) f(z) B SNGTFH THIA

Let (X, 11, Il) be a normed linear space. Then the "norm" is :
(1) Uniformly continuous function on X

(2) Continuous on X but not uniformly continuous

(3) Bounded function on X

(4) None of the above

W(x,ll,rlywmdgm@ﬂﬁlaa“ﬂﬁ”%:
(1) X g7 OF G ®Y § g B 8
2) % T G99 § W aAE = §

(3) X U HEE B ©
(4) S & & B

xf2
Lmet
By contour integration, the value of |.1+¢

is:
325 (3) (4) None of these

(1 @

PR

16

904 /Mathematics



RET/15/TEST-B 904 /Mathematics

37.

38.

mgwﬁleiéxdx

B HE B

m 5 @ 3

3) = (4) ST ¥ F FF T2

Let H be a Hilbert Space over a field C. If T, an T, are normal operators

on H into itself such that either commutes with adjoint of the other,
then :

(I) T, +T,is normal but T,T, is not normal

(2) T.T, is normal but T, + T,is not normal

(3) neither T, +T,is normal nor T,T, is normal
(4) T, +T,and T,T, both are normal.

W T+ 7,700 & qoq 7T, awfer =t &
@) TR & R T, + T, mker 79 2
(3) Hfﬁ'r]wgeﬁtﬁéimﬁrﬁa%
(4 T, +T,80% T,T, 5 anfer &

If{X, T) and (v, T,) are two topological spaceg and f ; x _
homeomorphism on x onto Y, then f s - T ASY s 4

(1) open but not closed (2)
(3) neither closed nor open (4)

17
P.T.0.
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39.

40.

aft (X, T) 3R (v, T,) & Sifsere 8 & 97 f: XY, X & Y
R Bt € 99 f § ¢
(1) T aX sig & (2) @FT 9T g &

@) AdAM G A T & A& (4) @G AR T IE A

n-1

o (1) :
The series ZW,VXGR 1S :

(1) uniformly as well as absolutely convergent

{2) uniformly but not absolutely convergent
(3) absolutely but not uniformly convergent
(4) neither absolutely nor uniformly convergent

M in(j)x_,o.\:fxeR % :

(1) @M &Y § ol gl el &

(3) W:WWW@WH@TE
(4) qawzaﬁtaﬁwwﬁ@ﬁﬂﬁ%

Let (X, 11, 1) be a Banach space arc C. Then :

(1) every series in X 1s convergen?t

(2) every convergent series in X1is .:«.1bsc-)1ute1-y convergent

(3) every absolutely convergent series ¥n X .1s convergent

(4) every absolutely convergent series in X is not convergent

X 11, 11 %ﬁﬁ%ﬁﬂ,ctﬂ%lﬂ'ﬂ:
Xamﬁﬁﬁﬁﬁﬁeﬁﬂrﬁ%
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Short Answer Questions
TY T g97

Note: Attempt any five questions. Write answer in 150-200 words. Each

questions carries 16 marks. Answer each question on separate page,

after writing Question Number.

2 A ge B s dfS1T | 9@% @1 Sav 150-200 g Hq
AT | g g9 lsaﬁw%inﬁmqaﬁwwwww
AR I S CeE i ol

01. If g and B..F=1 2 wes_ . » Il are generalized coordinates and

02.

momenta variables respectively of a rigid body, then show that
an-ﬁ

Where T is the kinetic energy.

Ae q, T p,,r=1,2, o SUGARIC I (70 I s T,
2 UF 35 fve & & Rt e

ip, q, = 2T,
=1

ST T ST Soit

19
P.T.0,
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03. Use reviscd simplese method w0 minimize

04.

05.

06.

bx, + 4x, + 7x, + 5x, subject to:
X, +2x, + x, + 2x, < 20,

bx, + 5x, + 3x, + 2x, < 100,

3x, +4x, +9x, + 12x, < 73,

Ky Ky Ky %, 20

6x, +4x2+7x3+5x43|:3\f fopsy 0 % oMU Ramge faad R & T
F) Rar &

X, ¥2x + % ¥ 2% £20,

6x, + 5x, + 3x, + 2%, < 100,

du, Yax, 4+ Ox, +12x, < 75,

X}, X, X3, X, 2 0

Let G be a finite obelian group and p be a prime such that p|O{G),

1 P =
then show that there exists an element a € G such that a? = €.

rirvﬂGk%qﬁﬁaaﬂ%%ﬂﬂﬁﬁﬁ%Wp@ﬁwm‘ﬁ%ﬁap\om,
a7 =eri=d BF asG UX e ar=c :

Show that no group of order 108 is simple. )
s @t [ 108 IS B o FHE TERT TRl 2

ical 8 ' mple of a
Define a locally connected top<')log1cal space. Gwel anl;zxio :nected
topological space which is connected but 1s not oc; yace X Ope,n.
Also pt;'ove that every component of a locally connected Sp ,

poTiE AR 4 R } :
@Hﬂwﬁﬁﬁqﬁ}‘a@’ﬁ@rﬂ o & 7 &l 98 HI

Wﬁﬁﬁwﬁuwmﬁamﬁmg@f@ﬁ%i

20



RET/15/TEST-B 904 /Mathematics

07.

08.

09.

Define Cantor set. Show that Cantor set has Lebesgne measure zero.
Is it countable ?

P I AR ¥ R B B ey qu=ay @ aae
HITH ST BT B0 T gE gidy e 2 ?

Prove that a normed linear space is a Banach space if and only if
every absolutely summable series is summable. Using the above
criterion, give an example of a normed linear space and show that it
is not a Banach space.

Define the radius of convergence R of the power seriesz a z"
0
n=4

and
give one example.

Show that :

~=lim|a, /"

o ]
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10. Solve the boundary value problecy .
y'+xy'—¥ =2%% yl0)=0, y{1}=1

by using the Ritz's method and taking the approximating function as
v(x) = x + ¢, x(1 - x].

HHT yog qEen # e FI

Y+ Xy -y = 22, y(0) = 0, 5{l) = !

T TR By x v o, x(l-x) B
ger Rest ffy a1 Wi H7 6 !
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Question No. Page for Short Answer

g GEAr Y IR B fiw g
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Question No. Page for Short Answer
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Question No. Page for Short Answer
a9 Hemr Y g & e g
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6.

10.

11.

12.
13
14.
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